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1. Find all solutions of the equation (cos 6 — 1)(sin 8 + 1) = 0.
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3. Find the solutions of the equation that are in the interval [0, 2r). dou)l& a:jk ﬁfmwha
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4. Approximate to the nearest 10’ the solutions of the equation in the interval [0, 360°).
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5. Verify the identity as either valid or invalid. — fdf)\— __W_ i }
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Express as a cofunction of a complementary angle.
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Find the exact value of tan 45° + tan 210°. A

/*6

/g
8. Find the exactvaluesofsin( -), cos (ﬂ), and tan (E) for the given conditions.

sec § =-3; 180° < B < 270°.
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9. Find the exact values of sin( ) cos ( z), and tan ( ) for the given conditions.
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10. Find the solutions of the equation that are in the interval [0, —253 )
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11. Express as a sum or a difference.
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12. Express as a product.

sin3t-sin1st A A4S FE +I5C j’ﬂ,ﬂﬁ‘
Z

A
A 005 9& S -!cﬁ)
@95 Gt Sin b&
13. Use sum-to=product formulasto-findthe-solutions of the equation cos t = cos 3t.
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15. Find the exact values of the expression sin[cos™ (— %)? \
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16. Find the exact values of the expression sin[2 arccos (— g)].
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17. Use inverse trig functions to find the solutions of the equation that are in the given interval. [0, 2m)
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18. Verify the identity. e =050 4x.
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19. Verify the identity. Insec®=-Incos 9




